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Coordinate Geometry
CHAPTER 6 : Coordinate Geometry

Distance = \/( =X, ) i 8 :)3

1) Find the distance of 4B 1f.4(1,2) and B(4,6).

Solution :

Distance = (14}’ +(2-6)’
=25
=54

2

v v
Midpoint = [L a4 Bl ]

2 2
1) Find the midpoint of 4B 1f 4(1,2) and B(5,8).

Solution :

Midpoint = i3 ; e
2 2

2y If m(3,4)1s a midpoint of 4B and given tliat A'a, 2), find the coordinate of point B.
Solution :
T4, ’2+y2 :(3,4)
2 2
L, 3 |2 +¥;

= :4
2 2

l+x,=6 |2+y,=§

x,=5 RIAN
[V S— SV, .\ W

therefore the coordinate of point B is (5.6) #

Parallelogram _ _ llel
Find the coordinate of point D if ABCD is a parallelogram where A(1, 2), B(3,6) and C(7,8).
Solution Let D= (h.k)
midpoint of BD = midpoint of AC
B(3.6) C(7,8)
3+h 6k [1¥T 248

27 2 272

3+h2=8 6+k=10
A(1,2) D(h, k)

h=35 k=4

‘Notes: Find the midpoint of "pepenjuru” to proof the pm'aﬂeiogram‘ D(5.4)#
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a) Introduction:

(i) positive gradient

m=72

450 /

(i1) negative gradient

m=-12 m=—1
2
45°
(iif) m=0
(iv) m=wo(infinity gradient)
by If got 2 points:
gt | oy TN o, o YO T
X —% 4 e .

Find the m ; if 4(1,2) and B(3,8).

8-2
m=——
-1
-3
c) If got an intercept:
F 3
F 3
\ >
/ 5 _1\.1\
2 — intercept-y height
m e,
. height {EHp
length =2%
/1 T = 2]
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d) If given an equation

Find the gradient for the equation 3x+2y =6.
Solution :
3x+2y=6
2y=6-—3x

C6-3x \
r= 3

e) 2 Parallel lines [ 2 Perpenculay fines:

m=2

13, \ind the equation of 4 if given that m = 4 and A(], 2).

Solution:

y=mx+C
A1,2) 2=(4)(1)+¢
C=-2
. The equation of 4 y =4x—2#

Il
=~

m
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2) Find the equationif given that 4(2, 3) and B(4,7), hence convert your answer to the general form.

Solution:

3) Find the equation if given that the intercept - x is 2 and the intercept-y is 3.

Solution
“1 Intercept Form, s PO S
a b
2 3
x+2y=-6

A4
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¥
a) T 4 114 % % X
req=—
e{4. ) 2 y1>§”2>}3>}1
1
Areaq=— ‘[xlyg TX Y XY, ] = [yrxz Ty X + s, ”
B(6,3) -
A(1,2) _ 1L O Al
anticlockwise Hraa= 9 ‘}%@2
>y
0 Area= % ‘[1(3) +6(5)+ 4(2)] = [2(6) +3(4H)+ 5(1)]‘
1
Area=—12|
2
Area= 6 unit’ #
b) X
C(_133)

12 4. 1\&2
Area=—
rea= 1 DM,

Area= %![( LB+ A3+ (CDED |- [(-1) @ +3(4)+50) |

X | 0.8
0 Area= 5|26‘
Ahea =13 unit’ #
A(-2,-1

B(ACR)

2

&

anticlockwise

***¢)  Find the parallelogram 4BCD.

‘yll

D(5,4) —C

Area ABCD =2 Area ABD

RS

Area ABCD = [13)+6(4) +5(2)]-[2(6) +3(5) + 4(1)]|
0 Area ABCD = 6 unit’ #

Area ABCD = Z/X%

A1,2)
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1) IfR divides AB intenally in the ratio 1: 2 and 4(3,18) and B(12,6), find R.

Solution :
R:[nuz+ml my2+ny1]
m+n ~ m+n
R 1(2)+2(3) 1(6)+2(18)
L1427 142
18 42
B(12,6) R—[?gj
R=(6,14)#
2) IfR divides A(3,18) and B(9,12) extenally in the ratio 3:1 , find R.
Solution : —
A(3,18) A(3,18)

>

R:/m2+m1 my, +ny,
m+n m+n

R:[l 3)+2h 1(8)+ 2k]:(9,12)

1e2 & L&
</
3424 18+2k _
5 3
34+2h=27|18+2k=30
2h=24 2k =18
h=12 k=9

P —

R(12,9)#

12
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Find the ratio AB ; BC.

C(7.8) Solution:
AB: BC
B3,k =AD:DE
=24
. =1:2#

Topic 6 Coordinate Geometry ::::::::::: v 6.02 The Equation Of The Locus
e.g..
Find the equation of the locus P moves such that the distance from (1,2) 15°3 unit.
Solution : Pix, y), A(1,2)
¥ P4=3
r 3
P(x,y) P4 =9
2 2
% it (x—l) +(y—2) =9
Ok +1)+(y —4y+4)=9
2 (@) (57 - ay+ )
2 +3 -2x-4y+5=9
> X
ey —x—dy—4=0#
Types Of Locus: 2) 2 Fixed Point:
1) Fixed Point:

vnl
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